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Colour the  below the picture having less boats.

Colour the  under picture having more children.

Colour the  below the picture having more birds. 

Less More
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Let us pair the boats in group A and group B.

By joining one boat in group A with one boat in group B, we 

observe that, the boats in group A are over. Some boats in group 

B remain. It means that boats in group B are more.

Pair the boats in group A and group B and observe.

One to one pairing

Group A Group B

Pairing helps to decide more or less.

Group A Group B 

The boats in which group are over ? 

Colour the box under the group which has less boats. 

 Let us understand... 

When the number of boats is large, it is easier to use the 

pairing to know which group is bigger.


